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Verify the given linear approximation at 8 = 0. Then determine the values of x for which the linear approximation is accurate to within 0.1.
(Enter your answer using interval notation. Round your answers to three decimal places.)
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solve( experiment(x) < .1)

solve( experiment(x) > —.1)
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Verify the given linear approximation at @ = 0. Then determine the values of x for which the linear approximation is accurate to within 0.1.
(Enter your answer using interval notation. Round your answers to three decimal places.)
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Just looking at this picture, it's evident that the tangent line never hits
the g(x) + 0.1. We need the 2 intersections with g(x) - 0.1
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Verify the given linear approximation at @ = 0. Then determine the values of x for which the linear approximation is accurate to within 0.1.
(Enter your answer using interval notation. Round your answers to three decimal places.)
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Compute Ay and dy for the given values of x and dx = Ax.
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Sketch a diagram showing the line segments with lengths dx, dy, and Ay.
X=by 4y, By,05
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Suppose that the only information we have about a function fis that f{1) = 8 and the graph of its derivative is as shown.
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(a) Use a linear approximation to estimate f(0.99) and f(1.01).
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The edge of a cube was found to be 15 cm with a possible error in measurement of 0.1 cm. Use differentials to estimate the maximum possible
error, relative error, and percentage error in computing the volume of the cube and the surface area of the cube. (Round your answers to four
decimal places.)
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